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1.What is the biggest difference between Cloud VR and traditional VR? (single-choice question, 2 points)
A. Image clarity

B. Image Perspective

C. Location of Image Processing and Rendering

D. The frame rate of the image

Answer: C

Explanation:

Question analysis: Cloud VR realizes the wireless of the terminal, and completes the image rendering
through the cloud server, which greatly reduces the terminal cost and improves the user experience.

2.In the IMT2020 vision, which of following is correct ratio of 5G service delay to the 4G service delay?
A.1/100

B. 1/20

C. 110

D. 1/50

Answer: D

3.Which of the following are 5G technologies defined in 3GPP release 15? _MC
A. Massive MIMO

B. Flexible sub-frame structure

C. New mutli-access technology

D. New waveform

Answer: A,B,C,D

4. Which of the following is the most advanced aspect of the development phase of loV? _SC
A. Fully Automated parking

B. Lase change assistance

C. Automated driving urban areas

D. Automatic driving in lanes

Answer: C

5.Which of the following is a function of UPF? (single-choice question, 6 points)
A. Server discovery function

B. Packet routing and forwarding

C. Provide policy rules to the control plane function

D. Base station authentication server function

Answer: B
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